- Money G. Revisio'n :

1. Work out :

(@ R34.10 (b) R 145.50 (¢) R100.50

R 1.35 + R 39.75 R 47.30
+ R 8.40

(d R27.50 (¢) R 50.10 @ R 75
- R43 .80 ‘ — R 20,25 - R 60.50

2 Work out :
(a) RS 7.0 (b) 24 .90 (c) R 325 .20

X 6 X 7 X 8

(d) 3, R9.30 (e) 5’R26.75 () 9‘R55.80

3 The canteen man collected R 425.50 on Monday and R 375.90 on Tuesday. How
much money did he collect on the two days?

4. Creamery R 49 .50
Soft drinks ! R28.30
Tinned Food R'66:,95

Calculate the bill paid by a housewife for the above articles purchased at the
supermarket.
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Money | G. Revision

Mrs. Ram bought vegetables for R 79.25. She gave a 100-rupee note to the
vegetable seller. How much money did she get back?

A man has R 85 000. He gives R 24 000 to his son, R 15 500 to his daughter
and the rest to his wife. How much money does the wife receive?

Find the cost of 9 rulers at R 1.50 each.

Mary buys 7 metres of cloth at R 48 a metre.
Calculate the amount she pays.

- Each of the 3 children in a family receives R 4.50 as pocket money daily. How

much money do they receive altogether?

A purse contains 13 ten-rupee notes and 7 five-rupee coins.
How much money does the purse contain altogether?

Complete table 1

Table 1
Article: Price Cost
3 packets of milk R 51.50 a packet
5 kg of rice R7.50 per kg

6 bottles of soft drinks R 14 a bottle

Total cost

A sum of R 240 is shared equally among Raj, Kamlesh and Venoo. How much
does each child receive?

A sum of R 148 is shared equally among 5 children. Calculate the share of
each child.

Shyam has R 420 and Dev has R 300. How much must Shyam give to Dev so
that the two boys have an equal amount of money?

A pen costs R 65. A bag costs R 30 more than the pen and a book costs R 15
more than the bag.” Find the total cost of these three articles.

1
Sam has R 250. He spends 3 of it at the market and % of the remainder at the
shop. How much money has he left?



